Fill in the missing numbers.
8, 11, 14, ____ , 20		12, 16, 20, ____ , 28		11, 16, 21, ____ , 31

Draw tens and ones to work out the answers.
26 + 13 =		35 + 14 =		26 + 11 =		32 + 17 =

25 + 24 =		27 + 22 =		31 + 26 =		46 + 23 =

45 + 32 =		47 + 31 =		54 + 35 =		62 + 35 =

18 + 12 =		27 + 13 =		26 + 16 =		39 + 21 =

Solve the addition problems.
There were 21 people on the bus. Another 13 people got on. How many people are on the bus altogether?



Jim has 15 marbles in his right hand and 13 marbles in his left hand. How many marbles does Jim have altogether?



Mary has 25 sweets and Lucy has 21 sweets. How many sweets do they have altogether?



There are 22 chocolates in each box. How many chocolates are there in 2 boxes?
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